Year 5 Homework, Summer Term Week 10 3

Maths: Speedy Six
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123.1 x 1000 =
. 12554 - 4332 =

What is 2234g in kg? (Remember there are
1000g in a kg.)

What is 30% of 800? (Remember find 10%
first.)

4432 x 78 =

What is V2 + 34?
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12341.2 + 1000 =

3323.11 - 242.98 =

What is 0.123 litres in ml?

What is 0.321kg in g?

What is 99% of 840?

What is the fraction and percentage

equivalent to 0.7?

Comprehension: Complete the sheet ‘J.K. Rowling Fact file’. This comprehension may take slightly

longer to read and answer. Some of the questions are quite tricky, so don’t worry if you have to talk
them through with an adult.
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Spellings
Core Support
ceiling football
receive anybody
receipt something
perceive | sometimes
conceit after
neighbour under
foreign actually
programme | weekend
recommend | cupboard
weight room
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In this grid, there are four multiplications.

Write the three missing numbers.

Optional Maths Extension:

One bonus house point available

4 x 8 =

X X

3 X = 21
56

Homework is due in on 12t July
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